1. Which of the following is one of the Fed’s policy instruments?

a. help the President win reelection

b. discount rate

c. monetary base

d. price level stability

2. In general, the monetary policy record since 1971 has shown

a. an increase in government spending.

b. a decrease in the discount rate.

c. increases in M2 as presidential elections approach.

d. overall declines in interest rate.

3. An example of a monetarist fixed-rule policy would be

a. “every time GDP decreases, decrease the growth rate of the

quantity of money.”

b. “every time GDP decreases, increase the growth rate of the

quantity of money.”

c. “do not change the growth rate of the quantity of money.”

d. “use all information available to determine the growth rate of

the quantity of money each time GDP changes.”

4. If the Fed follows a feedback-rule monetary policy and aggregate demand decreases, the Fed

a. increases the growth rate of the quantity of money.

b. does not change the quantity of money.

c. decreases the growth rate of the quantity of money.

d. None of the above answers is correct.
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5. In the above figure, aggregate demand unexpectedly decreases so 
that the aggregate demand curve shifts from AD0 to AD1. If the Fed

is following a feedback rule, it will try to shift

a. the AD curve to AD2.

b. the AD curve back to AD0.

c. the LAS curve rightward.

d. the SAS curve rightward.

6. If the Fed faces changes in cost-push pressure that shift the SAS curve, the Fed’s monetary policy shifts the

a. AD curve.

b. SAS curve.

c. LAS curve.

d. SAS and LAS curves.

7. If the price of oil rises and the Fed uses a feedback rule that targets real GDP, the result will be

a. a higher price level and a decrease in aggregate demand when

the Fed’s actions take effect.

b. no change in the price level but a decrease in real GDP when the

Fed’s actions take effect.

c. a higher price level as real GDP returns to its original level

when the Fed’s actions take effect.

d. a higher price level and a leftward shift in the AD curve when

the Fed’s actions take effect.

8. Eliminating inflation requires enduring a recession if

a. feedback rules are used.

b. no technology shocks occur in the economy.

c. Congress is unwilling to expand the quantity of money.

d. the Fed lacks credibility.

9. If the Fed credibly announces that it will slow growth in aggregate demand, the short-run Phillips curve ____ and the long-run Phillips curve ____.

a. shifts downward; shifts downward

b. shifts downward; does not shift

c. does not shift; shifts downward

d. does not shift; does not shift

10. To achieve a permanent reduction in the inflation rate, in reality it is likely that central bank policymakers must be willing to accept

a. a temporary increase in the unemployment rate.

b. a permanent increase in the unemployment rate.

c. the use of a feed-back rule policy.

d. the fact that it must permanently surprise the public.

11. Which of the following is one of the Fed’s intermediate targets?

a. price level stability

b. open market operations

c. discount rate

d. M2

12. Monetarists generally

a. support the use of feedback rules.

b. support the use of fixed rules.

c. support the Taylor rule.

d. are divided as to whether a feedback-rule policy or a fixed-rule

policy is superior.

13. Suppose that initially real GDP equals potential GDP at $11 trillion and that the initial price level is 120. Then an increase in potential GDP occurs. The fixed rule being followed is: Do nothing. As a

result, real GDP ____ $11 trillion and the price level ____ 120.

a. equals; equals

b. is greater than; is less than

c. is less than; equals

d. is greater than; is greater than

14. When might inflation be reduced without increasing unemployment?

a. When the Fed unexpectedly reduces inflation.

b. When the Fed announces that it will reduce inflation and people

do not believe the Fed’s announcement.

c. When the Fed announces that it will reduce inflation and people

believe the announcement.

d. Never.

15. A feedback-rule policy ____.

a. can be automatic

b. is independent of the economic state

c. is only used when there is a demand shock to the economy

d. increases aggregate demand

16. A credible announced inflation reduction results in lower inflation____.

a. and no change in unemployment

b. at the expense of higher unemployment

c. and a movement along the short-run Phillips curve

d. and lower unemployment

17. Which of the following is correct?

a. Both imports and exports include goods and services.

b. Imports includes both goods and services but exports includes

only goods.

c. Imports includes only goods but exports includes both goods and

services.

d. Both exports and imports include goods and neither includes

services.

18. Manufactured goods account for about ____ of U.S. exports and ____ of U.S. imports.

a. 50 percent; 60 percent.

b. 10 percent; 90 percent.

c. 90 percent; 10 percent.

d. 20 percent; 40 percent.

19. When U.S. net exports are negative, U.S. exports are ____ than U.S. imports and the United States is ____ foreigners.

a. greater; lending to

b. smaller; borrowing from

c. greater; borrowing from

d. smaller; lending to
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20. In the above figure, at point A the opportunity cost of producing a car is

a. 1/2 of a bushel of wheat.

b. 3/4 of a bushel of wheat.

c. 2 bushels of wheat.

d. 4/3 bushels of wheat.

21. A country has a comparative advantage in producing a good if it can produce that good at a

a. lower average total cost than any other country.

b. lower average variable cost than any other country.

c. lower opportunity cost than any other country.

d. higher opportunity cost than any other country.
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22. The above figure shows the PPFs for Nosidam and Acathi. The opportunity cost of an additional bottle of wine in Acathi is

a. 200 pounds of cheese.

b. A feedback-rule policy

c. 0.2 pounds of cheese.

d. 5.0 pounds of cheese.

23. If an efficient country trades with the rest of the world, it consumes at a point that lies

a. inside its production possibilities frontier.

b. outside its production possibilities frontier.

c. on its production possibilities frontier.

d. either inside or outside its production possibilities frontier.

24. Japan’s production of cars for export to the United States, Germany, and Canada is an example of a country experiencing gains from trade because of

a. economies of scale.

b. increasing marginal cost.

c. voluntary export restraints.

d. diseconomies of scale.

25. An important international trade agreement signed after World War II is called the

a. International Trade Agreement.

b. Newkirk Woods Agreement.

c. Free World Trade Agreement.

d. General Agreement on Tariffs and Trade.

26. Suppose the country of Mooland imposes tariffs on imported beef from the country of Aqualand. As a result of the tariffs,

a. the quantity of beef exported by Mooland decreases.

b. the quantity of beef exported by Mooland increases.

c. the supply of beef in Mooland decreases.

d. the quantity of beef imported by Mooland increases.

27. Examples of nontariff barriers include all of the following except

a. voluntary quotas on imported Japanese automobiles.

b. a marketing agreement that places a quota on shirts imported

from Hong Kong.

c. a voluntary restraint agreement that limits imports of steel into

the United States.

d. a 50 cents per pack tax on imported cigarettes.

28. An agreement between two governments in which the government of the exporting country agrees to restrain the volume of its own exports is called a

a. tariff.

b. voluntary export restraint.

c. quota.

d. tax.

29. When a foreign firm sells its exports at a lower price than its cost of production, the firm is

a. imposing an economies of scale cost.

b. dumping.

c. avoiding a tariff.

d. competing in an infant industry.

30. When considering rent seeking, which of the following is true?

a. The anti-free trade group generally will lobby more than the

pro-free trade group.

b. The pro-free trade group generally will lobby more than the

anti-free trade group.

c. Usually only the anti-free trade group is concerned about what

is best for society at large.

d. Only the pro-free trade group is concerned about the

government’s revenue from tariffs.

31. The fact that a nation imports and exports similar products can be accounted for by

a. diversified tastes and economies of scale.

b. neither diversified tastes nor economies of scale.

c. diversified tastes but not by economies of scale.

d. economies of scale but not by diversified tastes.

32. The Uruguay Round of the GATT created the ____.

a. Smoot-Hawley tariff

b. World Trade Organization

c. highest tariffs since World War II

d. North American Free Trade Agreement

33. The countries of Shark and Whale both produce fish food and dog biscuits. Shark has a comparative advantage in the production of fish food. Whale will import ____ and consumption in Whale ____.

a. fish food; is outside its production possibilities frontier

b. dog biscuits; outside its production possibilities frontier

c. dog biscuits; is on its production possibilities frontier

d. fish food; is on its production possibilities frontier

34. A country records its international finance accounts in its

a. trade payments accounts.

b. import/export log accounts.

c. balance of payments accounts.

d. net exports payments account.

35. The largest part of the U.S. current account consists of

a. Fed transfers of U.S. dollars to other central banks.

b. net transfer payments between the United States and Mexico.

c. receipts from exports and payments for imports.

d. net borrowing between the United States and other countries.

36. Over the last two decades, according to the United States balance of payments,

a. the current account and the capital account balances tend to

move in the same direction.

b. the current account and the capital account balances tend to

move in opposite directions.

c. there is no clear relationship between the current account

balance and the capital account balance.

d. the official settlements balance fluctuates greatly from year to

year.

37. If a country has a capital account surplus, that country’s stock of international indebtedness is

a. increasing.

b. decreasing.

c. constant.

d. zero.

38. Suppose X – M = net exports; T – G = government sector surplus or deficit; and S – I = private sector surplus or deficit. Which of the following relationships is correct?

a. X – M = T – G + S – I

b. T – G = X – M + S – I

c. S – I = X – M + T – G

d. None of the above answers are correct.

40. Suppose the exchange rate of the U.S. dollar was 1.50 British pounds = $1.00 (U.S.) on Wednesday, and on Monday the exchange rate was $.75 (U.S.) = 1.00 British pound. Which of the following

best describes what happened between Wednesday and Monday?

a. The U.S. dollar appreciated against the British pound.

b. The British pound appreciated against the U.S. dollar.

c. The U.S. dollar depreciated against the British pound.

d. Both answers B and C are correct.

41. The ____ the current exchange rate, the ____ is the expected profit from holding dollars, all other things remaining the same.

a. higher; larger

b. lower; smaller

c. lower; larger

d. The premise of the question is wrong because the exchange rate

has nothing to do with expected profit from holding dollars.

42. If the U.S. interest rate rises, the

a. demand curve for dollars shifts rightward.

b. demand curve for dollars shifts leftward.

c. there is a movement downward along the demand curve for

dollars.

d. None of the above answers are correct.

43. Other things remaining the same, the ____ the exchange rate for dollars, the greater the ____ in the foreign exchange market.

a. higher; quantity of dollars supplied

b. higher; quantity of dollars demanded

c. lower; value of U.S. imports

d. higher; expected profits from holding dollars

44. The quantity of dollars supplied will increase if

a. tourism to the United States increases.

b. foreign demand for U.S. exports increases.

c. U.S. imports increase.

d. U.S. interest rates are high.
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45. In the figure above, the shift in the supply curve for U.S. dollars from S0 to S1 could occur when

a. the U.S. interest rate rises.

b. foreign interest rates rise.

c. the expected future exchange rate falls.

d. the current exchange rate rises.

46. An increase in the Japanese interest rate will ____ the supply of dollars and lead the dollar to ____.

a. increase; appreciate

b. increase; depreciate

c. decrease; appreciate

d. decrease; depreciate

47. Suppose the target exchange rate set by the Fed is 100 yen per dollar. If the demand for dollars temporarily increases, to maintain the target exchange rate, the Fed can

a. sell dollars.

b. buy dollars.

c. violate interest rate parity.

d. violate purchasing power parity.

48. Suppose the exchange rate between the U.S. dollar and the French franc is 0.25 francs per dollar. If a television sells for 100 francs in France, what is the dollar price of the television set?

a. $400.

b. $25.

c. $50.

d. $200.

49. A country that borrows more from the rest of the world than it lends to it in a year is called a ____, and a country that lends more to the rest of the world than it borrows from it in a year is called a ____.

a. borrower; lender

b. importer; exporter

c. net borrower; net lender

d. gross borrower; gross lender

50. Suppose that $1 U.S. costs $1.50 Canadian. If in St. Louis a CD costs $10 U.S. and in Montreal it costs $15 Canadian, then ____.

a. purchasing power parity exists

b. Canadians will buy CDs in St. Louis

c. Americans will buy CDs in Montreal

d. Virgin Records will have an incentive to build more stores in

North America

